sTHE

LTEA

9TE=a

STE

141

€TEd

(A==

=]

[0

601

803

0

90 Ed

50

0 I

€0=

40|

TOER

Odn

%600

E==

@3@5@ _

SRz AN |

9T 0::

wor 0T 0% utT0

-
%00 %00

oot %99 O%o\o@N O% __ \aHN O___ﬁ “%9T°0 c\._v._” O @._HI
SRR T IR o S

%S'€

%0'€

%S¢ %0¢ %S'T %0'T %S0 %00

Odn

adad
0¢

adad
67'8T

2dd
0¢

add
8T

odad
97

21

adad
qT



8TE

LTER

o)y |

STE

v

€T

[44=]

TE

(0 |

60

803

L0

901

S0E

70 m

€0

[40] |

TO0E3

Odn

0cH

bed €S9 FAAR29TL'T

0cH
6TH

s 087 [77G€9'T

eaceciy 7

0cH
6TH
8TH

o 7re
2755

P01

0cH
6TH
8TH
LTH

] _ ——E—— —_ g 6.T
I

e IEEIE v

0cH
6TH
8TH
LTH
9TH
STH

Odn

0cH
6TH
8TH
LTH
9TH
STH
¥YTH

jol<[¢}
0¢

add
67'8T

adad
0¢

adad
8T

22

adad
97

add
qT



